
www.hidromarinha.pt

CÓD. A B C F G Kg

66.PISTR02510 25 11 25 M10X1.5 17.5 0,04

66.PISTR03012 30 13 25 M12X1.5 17.5 0,07

66.PISTR03212 32 13 33 M12X1.5 25.5 0,12

66.PISTR03514 35 17 33 M14X1.5 23 0,14

66.PISTR04016 40 17 40 M16X1.5  30 0,22

66.PISTR04516 45 17 40 M16X1.5  30 0,30

66.PISTR05020 50 21 40 M20X1.5 28 0,31

66.PISTR06024 60 25 45 M24X2 30 0,56

66.PISTR06324 63 25 45 M24X2 30 0,65

66.PISTR06524 65 25 45 M24X2 30 0,72

66.PISTR07024 70 25 45 M24X2 30 0,77

66.PISTR07527 75 28 45 M27X2 30 0,88

66.PISTR08027 80 28 45 M27X2 30 1,06

66.PISTR08030 80 33 45 M30X2 30 1,00

66.PISTR09033 90 35 50 M33X2 35 1,54

66.PISTR10033 100 35 50 M33X2 35 1,93

66.PISTR11039 110 42 50 M39X3 35 2,35

66.PISTR12042 120 45 50 M42X3 35 2,89

66.PISTR12542 125 45 50 M42X3 35 3,17

66.PISTR14048 130 51 58 M48X3 40 4,78

Material: Aço 11SMN30 - C45

C

ØB ØA

COMPONENTES PARA CILINDROS
PISTON ROSCADO


